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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks are indicated on right side.

(3) Use of calculator is allowed.

1 (a) Distinguish demand and supply functions : 5
1) x=100-5p

@  x=(8p+20)

(3 X= 400—ﬁ

p

@ (x+10)(p+20)=700

G) X=4——

(b) Find market equilibrium price and quantity : 5

D:p:46—6x2

S p=6+dx+2x>

[

(©) In usual notations obtain relationship between n, AR.

and M.R.
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(d)

2

If the demand function of a commodity is p =7 5_% 5

find price for maximum revenue and also find the

maximum revenue.

OR
1 Write short note : 20
(1) Demand curve and Supply curve
(2) Market equilibrium
(3) Price elasticity of demand
(4) Cost functions
2 (a) If the demand function of a commodity is P = 5(3—x2), 5
for what value of x the elasticity of demand will be
unity ?
(b) When price of a commodity was Rs. 3,40 per kg, its 5
demand was 1200 kg. When price increased to Rs. 4.20,
its demand decreased to 800 kg. Find the elasticity of
demand for a commodity.
(¢) If the demand function of the monopolist is given by 5
x=30-2p and its cost function is given by
2
C= —30+4x+%, find the maximum profit.
(d Find the minimum cost, if the total cost function is 5
3 24
i C=5+—x+—
given by 2 -
OR
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2 (a) Explain: Monopoly and production two commodities. 10

(b) Explain : Demand and supply functions, revenue 10

curve, production functions.

3  The following is a technical coefficient matrix of three 15

industries:

020 0.10 0.10
A=10.10 030 0.20
0.10 0.10 0.40

If the final demands are respectively 33, 8 and 16, find the
total production of three industries I, II and III.

OR

3 If Z=f(x, y) is a n'h degree homogeneous production 15

function, then prove that

oz 0z

(1) X—+

—=n
x> Ty

2 2 2
@) x28—2+2xy§c—{;+y2£:n(n—l)z

%) 2

2 2
4 (a) The utility of a consumer is U = f(x,y)=xy ad lgé/ and 8

his budget equation is 4x+3y =100. Find the values of

x and y such that consumer gets maximum utility.
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(®b) If the production function z—20_ x| y_l and per 7

unit value of x,y and z are 4, 9 and 16 respectively,

find the maximum profit.
OR
4 (a) Explain : Cob-Douglus Production Function. 5
(b) Explain in brief input-output analysis for two industries. 5

(© Explain: Marginal utility, Marginal production. 5
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